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$5:7 %URFKXUHV

7KDQNV WR '15 IRU IXQGLQJ SULQWLQJ WKH WKLUG HGLWLRQ RI WKH UHYLVHG $ODSDKD 5LYHU :DWHU

7UDLO �$5:7� =�IROG EURFKXUHV� 6HH WKH VPDOO LPDJHV RQ WKH OHIW� DQG ODUJHU RQOLQH KHUH�
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,Q DGGLWLRQ WR VDIHW\ DQG HWLTXHWWH LQIRUPDWLRQ� WKHVH EURFKXUHV FRQWDLQ HORTXHQW

GHVFULSWLRQV� SLFWXUHV� DQG D SDLQWLQJ RI ZKDW SDGGOHUV FDQ VHH DORQJ WKHVH ULYHUV�

HQFRXUDJLQJ FRQVHUYDWLRQ RI WKH HQYLURQPHQW� 7KH\ UHFRPPHQG EHFRPLQJ FHUWLILHG IRU

ZDWHU TXDOLW\ WHVWLQJ� DQG WKH\ KDYH WKH ::$/6 PRWWR DERXW VWHZDUGVKLS DQG

FRQVHUYDWLRQ� SOXV D 85/ DQG D 45FRGH OHDGLQJ YLHZHUV WR ZHE SDJHV DQG RQOLQH PDSV�

$5:7 5DFN &DUGV

7KLV WLPH ZH SURSRVH WR PDNH UDFN FDUGV� ZKLFK DUH WKH VDPH IRUPDW DV IROGHG�XS ]�IROG

EURFKXUHV� EXW RQO\ RQH VKHHW� IURQW DQG EDFN� ZLWK EDVLF LQIRUPDWLRQ DQG 45 FRGHV

OHDGLQJ WR RXU RQOLQH LQIRUPDWLRQ� 7KHVH DUH OHVV H[SHQVLYH� DQG DUH IRU GLVWULEXWLRQ DW

ZHOFRPH FHQWHUV DQG UHVW VWRSV�

$5:7 5RDG 6LJQV

/RZQGHV &RXQW\ PDGH DQG SODQWHG URDG VLJQV

IRU WKH $5:7 DW 1D\ORU %RDW 5DPS� :H SDLG WKH

*HRUJLD 'HSDUWPHQW RI 7UDQVSRUWDWLRQ WR PDNH

DQG SODQW VLJQV DW HDFK RI WKH QLQH RWKHU *HRUJLD

$5:7 DFFHVV SRLQWV�

8QIRUWXQDWHO\� VRPH RI WKHP DUH PLVVLQJ�

VSHFLILFDOO\ DW 0D\GD\ /DQGLQJ RQ +RZHOO 5RDG

LQ (FKROV &RXQW\� 6R WKDW¶V RQH VHW RI $5:7

URDG VLJQV QHHGHG�

7KHVH URDG VLJQV DUH GHVLJQHG DFFRUGLQJ WR

FULWHULD SURYLGHG E\ *HRUJLD 5LYHU 1HWZRUN IRU

*HRUJLD :DWHU 7UDLOV� ZLWK WKUHH VLJQV SHU SRVW�

7KH WRS VLJQ KDV WKH ZDWHU WUDLO QDPH DQG LFRQV

IRU WKH W\SH RI DFFHVV �FDQRH� ND\DN� DQG IRU ERDW

UDPSV DOVR SRZHU ERDWV�� 7KH PLGGOH VLJQ KDV WKH DFFHVV SRLQW QDPH DQG WKH FRXQW\ QDPH�

7KH WKLUG VLJQ LV D GLUHFWLRQDO DUURZ� (DFK DFFHVV SRLQW JHWV WZR SDLUV RI WKHVH VLJQSRVWV�

GLIIHULQJ RQO\ LQ WKH GLUHFWLRQ RI WKH DUURZ�

$5:7 6LJQV DW WKH :DWHU

:H KDYH SLRQHHUHG D VHW RI WZR PHWDO VLJQV RQ D VLQJOH SRVW DW WKH ZDWHU� VHH EHORZ XQGHU

:/5:7 6LJQV DW WKH :DWHU� 2Q WKH $5:7� WKHVH VLJQV DUH PLVVLQJ DQG SUHVXPHG VWROHQ

DW /DNHODQG %RDW 5DPS DW *$ ��� LQ /DQLHU &RXQW\� DQG LQ (FKROV &RXQW\ 0D\GD\

/DQGLQJ DW +RZHOO 5RDG DQG 6WDWHQYLOOH %RDW 5DPS DW *$ ��� 3OXV ZH ZDQW WR SODFH VLJQV

DW %DQNV /DNH %RDW 5DPS� 6R WKDW LV � VHWV RI $5:7 DW�ZDWHU VLJQV QHHGHG�
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